Math261

Quiz 6 September 26, 2018

Name: SO l U)(‘L(}/*S

Directions: Show all work. No credit for answers without work.

1. [8 points] Find the general solution to 2y” + 10y’ + 17y = 0. Express your answer in terms

of real numbers.

(Uas . 20 +10r A1=0 CMfw wﬁ* peett -
= f%_ +3 b)t
~0% | 100 - H07)
- 3 L
9 = é@t Le = l}
“ S—t
~lot -3 = ,@/Z)b [CDS L;Lt) #ZSW\LZ’ )_j
- — _;;‘-b _
¢ 5(: COSC ) , = e gW\ét)
o Lbi
Co — 5e s
= 2 + 2, S
=53 | sz ¢ et ettt g
2. [38 points] Solve the IVP 3" + 5y — 14y = 0 with (0) = 2 and 3/(0) = ~1. Express your
answer in terms of real numbers.
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3. [3 points] Show that y1(t) = cos2t and yo(t) = sin 2t are solutions to " -+ 4y = 0. Then,
decide if y; and y form a fundamental set of solutions. Show your work.
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4. [1 point] Given that y; = cost, find a function y; so that the Wronskian W (t) of y1 and g2
satisfies W (t) = cos®t.
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